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Wrap-around in Command Position

When the cyclic position control is used for an application moving continuously in the 
same direction such as a conveyer, wrap-around occurs in the command position. 
To maintain continuity in this case, the difference between current and previous position 
is used for the servo control.
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Example of Positive Rotation

time

7FFF FFFF h (2,147,483,647)
7FFF FFFE h (2,147,483,646)

0000 0000 h (0)
0000 0001 h (1)

FFFF FFFF h (-1)
FFFF FFFE h (-2)

8000 0000 h (-2,147,483,648)
8000 0001 h (-2,147,483,647)

0000 0002 h (2)

hexadecimal (decimal)

positive

negative

P2

P2’

Command Position

In the above figure, when the command position is changed from P1 to P2, the difference is as follows:

P2 – P1 = 8000 0001 h – 7FFF FFFE h 
= 0000 0003 h (3)

Thus the servo drive recognizes 3-pulse motion forward. 
This is the same result as change from P1 to P2’ calculated with the longer data than 32-bit.

P1
P1

P2

P2’
0 8000 0001 h (2,147,483,649)
0 8000 0000 h (2,147,483,648)
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